2007-2008 7TH GRADE CONTEST

Answers

30.

A circle cannot pass through exactly ?_of a square’s vertices.
A) 4 B) 3 0 2 D) 1

30.

31.

Of the inequalities below, only ?_is correct.
7_8_6 6 _8 7 6 _7_38 8 6 _7
Ms<v<m Ou<r<s On<s~v Dv<1u<s

31

32.

The volume of a cube with a surface area of 9600 is ?_ times
the volume of a cube with a surface area of 96.

A) 10 B) 100 C) 1000 D) 10000

33.

To buy a $45 gift, I paid 25% right away,
and I paid the rest in 5 equal payments of
A) $6.75 B)$7.25 C)$9.00 D) $11.25

If N is a prime, which of the
following is never a prime?

A) N+3 B) N+5 Ml
C) N+7 D) N+9 =S

32.

33.

35.

1 1 1 1 .
Thevalueof2X§x4><§><6x7x...x48x4—91s

A<l B)>1 Q=1 D)=0

Of 400 kids at my school, 30% have a cat
and 75% have a dog. Of the kids with a
cat, 65 also have a dog. How many of the
400 kids have neither a cat nor a dog?

A)45 B)9 C) 129 D) 335

37.

88x44x22 =
A) 2% B 2% (22 D)2t

35.

36.

37.

/00 XT00XT00XT0 =
A) 1 B) V10 Q) 10 D) 100

38.

39.

The sides of a regular octagon are numbered
clockwise from 1 through 8. After the octagon

is rotated 1575° clockwise, which side is in the
position that side 3 occupied before the rotation?

A) side2 B) side4 C) side6 D) side8

39.

40.

If I swam 1 more lap each day than I swam the day before, and I
averaged 58 laps daily last May, then I swam ? I%ps last May 1.

A) 42 B) 43 C) 4 D) 45

40. .

The end of the contest &y

Visit our Web site at hitp://www.mathleague.com
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2007-2008 Annual 7th Grade Contest

Tuesday, February 19 or 26, 2008 ?
Instructions

m Time You will have only 30 minutes working time for this contest. You
might be unable to finish all 40 questions in the time allowed.

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, should be commended!

= Format and Point Value This is a multiple-choice contest. Each an-
swer is an A, B, C, or D. Write each answer in the Answers column to
the right of each question. A correct answer is worth 1 point. Unan-
swered questions get no credit. You may use a calculator.
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